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Section II: Conservation of Momentum

1. A @rweling at 12 m/s makes a head-on collision with a@moving in the

opposite direction at 6 m/s. After the collision the raft moves backwards at 22.7 m/s.
Determine the speed of the canoe after the collision.

TS © e

ot | Pl e < marlor Sterbs
\vl'\hf;:-"\%gs ([O\Cﬁ)LIZME) ‘{f(_"(\/ﬁ)(_ @M§> 16\51) Vﬁ'? 4 (q%) (2 3 /}/>>
\}6‘\1"(0"‘{}

2. A2 kg ball traveling at 5 m/s collides with a @ at rest. After the collision the 1 kg ball
Mmoves i

with a speed of 7 m/s. Find the final speed of the 2 kg ball.
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3.A er finishes her performance and crossed the finish line with a speed of 10.8 m/s.
Suppose she accepts a huge

4 kg bouguet of flowers. Find her new speed.
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4. A lailroad car moving at 7 m/s collides and sticks to r with a mass of 17,000
kg thatismoving in the same direction at 1.5 m/s. What is the speed of the joined cars after
the collisiOn?‘S/ @——j i‘: > é @‘g 7
- > ' Vg, = (me<Ag) V£

Ma=15090%) | Ve =7 MaVy FMeVe

gy '
nv\m ;»oc\?o ¥ (500069 F) HWM\@U%@ — [r5to0¥g* reocorg)Vg-

,, ‘7/\)5

Unit 6: Momentum and Impulse Page 11

\//5/7 %,@9/1(}

Unit 6 - Momentum and Impulse Page 1



